1 0 (2000000000, 000000000
odoubobuooooooobood

000 f€klzy,z,...,2,] 00 k"' 0000 coeff 00000000
0,0000000000.

00 (0D000). coeff: klxr,xa,...,2,) = k"1 0000000000,

coef f(0) = (0,0,...,0,0)

coef f(a) =(0,0,...,0,a)
coef f(axm) =(0,...,a,...,0) (mO 0000000 0)
coef f(f +g) = coef F(f) + coef f(g)

(a €k,a#0,f, g€kl za,...,2,])

00 (0000). 00000000000000000.
f >coefr 900, coeff(f) 00000 000000O0O0DO 00000,

coeff(9): #0000 f =coefs g, coeff(g)i=0000 f >coess g

ooooooooooooobooboboooboobooooooboog,
gbgbooooooooogbbobobobaoboboboboobon
go.

a. ggoo

oo0o0o0oO0Oooosi0o00o00o0oooooooooooooooog
oboooooooooboooog.



